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Question: 139

Which two StorageGRID features provide data durability for large unstructured datasets? (Choose two.)
A . object replication
B . storage tiering
C . erasure coding
D . S3 API compatibility

Answer: A,B

Question: 140

Where would you create an export policy?
A . in an SVM
B . in a RAID group
C . in an aggregate
D . in a FlexVol volume

Answer: D

Question: 141

Which two Amazon storage services are used to store data for Cloud Volumes ONTAP? (Choose two.)
A . Amazon FSx
B . Amazon EFS
C . Amazon EBS
D . Amazon S3

Answer: C,D

Question: 142

Which three Element software global efficiencies are always active? (Choose three.)
A . data compression
B . thin provisioning
C . data deduplication
D . redundant array of inexpensive disks (RAID)
E . quality of service

Answer: ABC

Question: 143

What are three benefits of using NetApp Cloud Volumes ONTAP? (Choose three.)



A . storage efficiencies
B . serverless compute
C . automatic backup
D . automatic tiering
E . SnapMirror capabilities

Answer: A,C,D

Question: 144

Which ONTAP-native encryption type is supported with Cloud Volumes ONTAP?
A . NVE
B . NSE
C . RSA
D . AES

Answer: A

Question: 145

What are two reasons to enable high availability? (Choose two.)
A . fault tolerance
B . nondisruptive operation
C . load balancing
D . performance management

Answer: A,B

Question: 146

Which type of service is an Amazon EC2 instance?
A . networking
B . storage
C . compute
D . switch

Answer: C

Question: 147

Which service does Cloud Volumes ONTAP tiering use?
A . Azure Stack
B . Azure Queue Storage
C . Azure Data Lake Storage
D . Azure Blob



Answer: D

Question: 148

What are two benefits of implementing NetApp Cloud Sync? (Choose two.)
A . to consolidate storage management into one administrative tool
B . to leverage native SnapMirror technology to retain storage efficiencies
C . to automate data migration processes, on-premises or to the cloud
D . to provide a secure data synchronization service

Answer: C,D

Question: 149

Your users require both NFS and SMB file services. You do not want to manage the storage using OnCommand
System Manager or the command line interface.

In this scenario, which three products would satisfy these requirements? (Choose three.)
A . Azure NetApp Files
B . Amazon S3 Glacier
C . NetApp Cloud Volumes Service for AWS
D . NetApp Cloud Volumes Service for GCP
E . NetApp Cloud Volumes ONTAP

Answer: A,DE

Question: 150

Your company wants to use public cloud for data analytics and they want to use the most competitive cloud provider
at any given time.

In this scenario, which NetApp solution would store data near multiple public cloud providers?
A . NetApp Private Storage
B . Azure NetApp Files
C . Cloud Volumes ONTAP
D . NetApp HCI

Answer: A

Question: 151

Which three NetApp data mobility products are used to migrate data into the cloud? (Choose three.)
A . XCP
B . robocopy
C . SnapMirror
D . Cloud Sync



E . rsync

Answer: A,C,D

Question: 152

Which two statements describe the benefits of using public clouds? (Choose two.)
A . Public clouds provide an environment for development, testing, and disaster-recovery applications.
B . Public clouds are always used for hosting tier 1 and financial applications.
C . Applications are always less expensive to run in the public cloud.
D . Public clouds support multi-regional applications without the expense of collocating data centers.

Answer: A,D

Question: 153

Which two hypervisors are supported for use with ONTAP Select? (Choose two.)
A . Hyper-V
B . KVM
C . ESXi
D . Solaris

Answer: B,C

Question: 154

Which tool do you use to administer a NetApp Kubernetes Service cluster manager?
A . kubect1
B . kubeadm
C . clustershell
D . helm

Answer: D

Question: 155

Which statement is true regarding application containerization?
A . Application containerization is designed for massive data sets.
B . Application containerization increases performance of virtual machines.
C . Application containerization requires the Linux operating system.
D . Application containerization provides increased portability.

Answer: D




